— &3 1 RAERX 01-1 -
I 1 RAREK 01-1 (/6 ( ) )

ROTGEAEMEE S, (1116 /)

T =0y — 22 3r+y=-—1
(1) (2)

T+y=2 y=>5r+7

p+2¢=-8 m + 5n = —30
(3) (4)

p=—4q — 20 m = 5n + 30

q:4p+18 y:—4$—6
(5) (6)

op+q=—18 —2z+y=0

— 13th-note —



— &3 1 RAERX 01-1 -
I 1 RAREK 01-1 (/6 ( ) )

ROTGEAEMEE S, (1116 /)

T =5y — 22 3T =-—1
) DR S
rT+y=2 y=>5xr+7
(CC, y) — (_29 4) (CC, y) — (_19 2)
o (P28 @ | o=
p=—4q — 20 m = 5dn + 30
(p, q) = (4, —6) (m, n) = (0, —6)
5) {q—4p+18 ©) {y—4x6
op+q = —18 —2x+y=0
(pa q) = (_47 2) (CC, y) — (_1? _2)

— 13th-note —



— &3 1 RAER 01-2 -
I 1 RARERX 01-2 (/6 ( ) )

ROTGEAEMEE S, (1116 /)

s+t=17 b= —2a—-8
1) (2)

t=-5s+19 —2a+b=—4

t=—-25+6 m —4n = —16
(3) (4)

os +t =21 m=3n—13

p=4q+11 da + b= 22
(5) (6)

p+3g=4 b= —2a+38

— 13th-note —



— &3 1 RAER 01-2 -
I 1 RARERX 01-2 (/6 ( ) )

ROTGEAEMEE S, (1116 /)

D s+t=7 @) b=—2a—8
t=—-5s5+19 —2a+b=-4
(s, t) = (3, 4) (a, b) = (—1, —6)
3) t=—-25s+6 0 m —4n = —16
os +t =21 m=3n—13
(s, t) = (5, —4) (m, n) = (—4, 3)
p=4q+11 da + b= 22
5 6
(){p+3q—4 (){b—2a+8
(p, @) = (7, —1) (a, b) = (7, —6)

— 13th-note —



I 1 RAEX 01-3

~ EI 1 RAER 01-3 -

ROTGEAEMEE S, (1116 /)

a-+2b=11
1)
a=—5b+20

25+ 3t = —15
5)
s=—2t—10

—4a+b=-18
4)
b=2a—6

— 13th-note —

)



— &3 1 RAER 01-3 -
i 1 RAREK 01-3 (/6 ( ) )

ROTGEAEMEE S, (1116 /)

a+2b=11 y=x+6
1) { (2) {
a = —5b+ 20 2t +y=—3
(a, b) = (5, 3) (z, y) = (=3, 3)
t=—s —4G+b:—18
(3) (4) {
—s+t=-2 b=2a—6
(s, t) = (1, —1) (a, b) = (6, 6)
25+ 3t = —15 =2z —10
+ 3t (©) {y
s=—2t—10 —or +y = —22
(s, t) = (0, —5) (z, y) = (4, —2)

— 13th-note —



— &I 1 RAERX 01-4 -
I 1 RARER 01-4 (/6 ( ) )

ROTGEAEMEE S, (1116 /)

b=3a—11 5p+q=—16
(1) (2)

Ja+b=13 qg=p—+38

y=-—-3x+5 q=—5r—25
(3) (4)

—Sr+y=>5 q—3r=23

2a — 5b = —16 —3r+y=-5
5) (6)

— 13th-note —



~ EIT 1 RAER 01-4 -

I 1 RAER 01-4

ROTGEAEMEE S, (1116 /)

b=3a—11
(1)
3a+b=13

(a, b) = (4, 1)

2a — 5b = —16
5)
a=—-3b+ 14

(a, b) = (2, 4)

—3r+y=-5
6)
y=4x — 7

(z, y) = (2, 1)

— 13th-note —



~ &3 1 RAER 01-5 -
I 1 RARER 01-5 (/6 ( ) )

ROTGEAEMEE S, (1116 /)

t =55+ 16 qg+3r=14
1) (2)

ds +t = —2 g=-r+6

x+by=-—15 b= —2a+7
3) (4)

r=3y+1 —3a+b=2

4q + 5r = —23 t=—-2s—2
5) (6)

q=2r+4 —4s+t=10

— 13th-note —



~ EI 1 RAER 01-5 -

I 1 RAEK 01-5

ROTGEAEMEE S, (1116 /)

t=>5s5+16
1)
4s +t = -2

(s, t) = (-2, 6)

T+ 5y =—15
3)
r=3y+1

(z, y) = (=5, —2)

4q + 5r = —23
5)
q=2r—+4

(qa r) — (_27 _3)

b=—-2a+7
(4)
—3a+b=2

(a, b) = (1, 5)

t=—-2s—2
(6)
—4s+t =10

(s, t) = (-2, 2)

— 13th-note —



